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O1 a=14+40=2-30000000000000O0

1. Q. a+p
A.
a+pf = (1+4)+ (2 —34)
= (1419 + (24 (=3)9)
= (1+2)4+(1+(-3))
= 3+ (—2)i
— 3—2i
2. Q. a—0
A.
a—fF = (14+1)— (2 —3i)
= (14 1) — (2+ (—3)i)
= (1-2)+(1—(=3))
= (1) + (4)i
= —1+4
3. Q. axp
A.
ax (1414) x (2—3i

)
1 x(2—3i)+1ix(2—310)
(1x2)—(1x3i)+ (i x2)—(ix3i)
2—3i+2i— 3%

2 — 3i+2i — 3(=1)

2—-3t+21+3

(24+3) + (—3i+ 29)
(2+3)+ (=3 +2)i

54 (—1)i

D—1

|0



a (1+414)
1G] (2 — 3i)
(14+4)(2 — 34)
(2 — 30)(2 — 31)
(1+14)(2+ 34)

(2—3i)(2 + 3@%

243+ 20—
S 2P
_ —1 4+ 5i
B 1 135.
- _E + 1—3’l
5. Q. Re(p)
A.
Re(3) = Re(2— 3i)
6. Q. Im(p)
A.
Im(3) = Im(2— 3d)
7.Q. 05
A.
B = 2-3i
= 243
8. Q. ||
A.
8] = V22 +32
= V4+9
V13
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.a=1+5i, B=1-23i

L1—1. 242, 1—-2. 8, 1-3. 164+2i, 1—4. =B 1_5 1,
6. —3, 1-7 143i, 1-8 10

Loa=—4—4, [f=-5+i

L2-1. =9, 2-2. 1-2, 2-3. 21+i, 2—-4 % 25 5
6. 1, 2—7. —5—4, 2—8. /26

La=—-2—-4i, f=3+2

.3—-1. 1-2, 3-2. —5—6i, 3-3. 2-16i, 3—4. =% 3-5. 3,
6. 2, 3—7. 3-2i, 3-8 413

La=-2%, [=2—1

LA4—1. 2—-3i, 4-2. —2—4, 4-3. —2—4i, 4—4. EE 45 2
6. —1, 4—-7 244, 4—8. 5

.a=4+5i, B=-3-5i

.5—1. 1, 5—2. 7+10i, 5-3. 13—35i, 5—4. =3 55 _3
6. —5 5—7 —3+5, 5-8 /34

. 6-1. 5-2i, 6-2. 5+8i, 6-3. 15—25i, 6—4. =I5 (-5 0,
6. —5 6-—7. 5, 6-8 25

.a=-1+44, B=-5+5i

. 7—1. —6+6i, 7—2. 4—4i, 7-3. —10i, 7—-4. &, T7-5. =5,
6. 5, 7T—7. —5-5i, 7T—8. /50



